Subject: Myers blended index
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Dear DHS colleagues,

| am trying to calculate Myers' blended index of digit preference for a child's reported age in
months (variable: hwl) using India KR 2015-2016 data. | came across a stata command (by
Germéan Rodriguez and T. Pullum) that can calculate the index. However, to compute the

index, I am not sure if | should be using v005 / sv005 as frequency weight or not. Can you please
review my syntax and help me in correcting the command to calculate the index?

myers hwl [fw=sv005], range(0 47) months gen(mw)

Also, if | choose to calculate the index without the buil in stata user command, can you please
guide me on steps to be followed for calculating the myers' weight? I tried putting something
together. Would be grateful if you can review the code below:

gen lastdigit = mod(hw1,10)

gen mw =10

replace mw = hwl+1 if hwl <9
replace mw = 19-hwl if hwl > 9
replace mw = 29-hwl if hwl > 19
replace mw = 39-hwl if hwl > 29
replace mw = 49-hwl1 if hwl > 39
replace mw = 59-hwl1 if hwl > 49
replace mw = 0 if hwl ==60

gen combow = v005 * mw

Thank you,
Mona
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